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]DD 00
system(s) | 000 s00000000000 AWK OO
Ooooo

O 1: OO system()

system() DO U0 sOUO0OO0O0OO0OOOOODOO0OOOOODOOOODOOOODO
O0000O0Osystem() OODAWK OOOO0OOO0OOOOOOOOOOOOOOOOO
OO0000 AWK OOODODOOOOsystem() DOOOOODOO

O0000000000000 (testi.batO0O0O)

Q@echo off
dir

time /t
color 64

O0000000 AWKOOOODO (testl.awk) 00 O0O00O0O0OODOOO

BEGIN { system("dir"); system("time /t");
system("color 64") }

gboobobbobboobodbddbgawk -f testl.awk DO O0OOOO
testl.bat U UOUOOOODOOO0O0OODOOOO0OO0ODOOOO0O0OO

O00 AWK OODOOOooOooooboo sbobobuoboobooobuooboo
goboog:

BEGIN { d = strftime("%d")
if (d % 5 == 0) system("start http://www.niit.ac.jp") }

gobbboooobbboooobobobooooboon

@echo off
set /a d=(1%date:"-2% - 100) %% 5
if %d%==0 start htt://www.niit.ac.jp

00000 AWKDOOOD 20000000000 DO000DOO0O0oo0ob a0b00OnO
000000000000000000*0000000000000 if00000
OO0 AWK OOOODOODq % 500000000000 0Db0bOoon

D000000000000000O00000O0O000O0 300000 pr0O00O0
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100000000000000000000 (20160726.1og0) 0000000 DOO
OO000bO0bOobo0o0obOooob0obobooboooo AWK DODODOgDo:

BEGIN { tcur = systime() ; told = tcur - 24%60%60%10
fold = strftime("%Y/m/d.log", told)
fcur strftime ("%Y/m/%d.log", tcur)
strftime ("%Y-Y%m-%d %H:%M:%S", tcur)
system(sprintf ("if exist %s del %s", fold, fold))

system(sprintf("echo %s > %s", scur, fcur)) }

scur

tcur 000000 (epoch0)0toldd 100000000 folddfcur DODOOO 10
O0b0o0oD0b0bo0oboobon strftine) D00O0O0Oscur DOO0OOOOODO
goboobooobooboobobobobobobobOobobOobOobOobOobon
0000 system(O) DOO0D0OO0O0O00D0O0D00OO0O 200 system(O) ODOOO

if exist 20160726.1log del 20160726.1log
echo 2016-08-05 13:12:00 > 20160805.1log

g20000000bobuoooobbobuoooobobobuoonobon

gobobbobboogogobbbodgoooobbobooooooooboon
gbogbobboboobdooo iogbobooooboboboboboood
UO00egawk DODODOOOOODOOODOO

2 000000000 cdlOOOO

gbbogoboggbbuoodgboobobboodbbuodblbecallbbognon
gobobooogn

0000 ==

call [0 O0OO0OO0O0OO] | [D000000]OD000OO0OOOODOOOO
ggbooboboogd

U2.00000004a0bo

gbobuobogooboobuoboboubobooobbooboboboobobod

OO0 test2.bat UUODODDOOOOOOOO
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@echo off

rem 000000000000 (test2.bat)
set x=8

echo [%0] 1. [%x%] [hy%]

set /a x=x + 1

set /a y=y + %1

gbobbo0o0dgdbi test3.bat

@echo off

rem 00000000000 (test3.bat)
set x=3

set y=b

echo [%0] 1. [%x%] [hy%]

call test2.bat 10

echo [%0] 2. [%x%] [hy%]

gbooobgn

Z:¥> test3.bat
[test3.bat] 1. [3] [5]
[test2.bat] 1. [8] [5]
[test3.bat] 2. [9] [15]

UooobobbobDDOOOcall O test2.bat UUUOUOOODOODOODO echo OO
Ubb0b00xU0 yOUObOUuoobDOOD test3.bat U call UUODODOOOOMO
UOOecho UOUOUOOOOOODOtest2.bat U DOOODODOUOOOOOODODODO 10
O0test2.bat DOOOOOO0OO 1 00000000OO0ODO

gogobboobobbooogobbobbbodoooooobobbuooooooobobo
gboooboobooboobooboboobbobboboboobooobod
gobbooboooooboo

3 gawk 00 0O0O0OODOOOOOO

gawk 0000000 DOOOOOOOO0ODOODOODOOOOOO0ODOODO 300
gpoooboobon

e (A)AWKODOOOODODODODOD system) OOODOOOOOOODODO
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e (B AWKOIUDUDUDODDODOODOOODODOODODODDOUODODODODODODODODOOOOO
gawk O 00O system() DODO OO

e (C)(0)OUDDOOUDODOD gawk JOODOOOODOOOODOOOODOODOOO
gbbodgbbuogdgbbobboobboobbooboooboobood
U0 call OOODODO

gobobooogoboboooob 3booogooo:

IMG_1.JPEG, IMG_2.JPEG, ..., IMG_150.JPEG 00D 150 000D O OO O
£11e0008. jpg, £110009. jpg, ..., £ile0157.jpg 00O OO OO OO AKB
000000000000000

gbobboogdidibmeve DOOUOODOODOOOOOO

Z:¥> move IMG_1.JPEG AKB¥file0O008. jpg
Z:¥> move IMG_2.JPEG AKB¥file0009. jpg

O000000 100000000000000 AWKDO for 00O printf0system()
goboboooobboooobbobod

gbbooboobugd forgbobbog gooostbgnool7bobbuognn
gbbbbooooooobbboooobbbuoooobbbooobobobo

e (A) gawk 000 system() OODO
OO000ob0ob0o0o0o0 AWKODOOOoo 1obooooogoooo

BEGIN {
for (j=1; j<=150; j++) {
s = sprintf("move IMG.Jd.JPEG AKB¥¥file’04d.jpg",
i J+D
system(s)

1

OO00000000o0bDObd sprintfO D000 sOOO00OOO system()
0000000000 system() D00 sprintf() OO0O00O0O0 for 0000
100000

OO00000D0Osystem() DOODODO 1500000000000 00Osystem()
0000000000UoooooDooCooOOoU0U0U0U00 (bobooooooo
O0000000)0000000000000D0O0bOO0oOOoOoooOon (B), (C)
gboboboogobood
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e (B)gawk 00O ODOOODODODOO system(O) OODO

OO0D0O000 AWKOOOUODOO 1000b0o0bodbDOsystem() DOOO
O000000000ooo0oO0o0 (booo 20)0

BEGIN { fname = "tmpl.bat"
for (j=1; j<=150; j++)
printf "move IMG.%d.JPEG AKB¥¥file),04d.jpg¥n",
j, j + 7 > fname

close(fname); system(fname); system("del " fname) }

tmpl.bat UUOODODODOOO0O0O0OO0OOOO0O0O0OOOO0O0O0O0OOOO0O00
0000000000000 (A) 000000000 (y3n) 000000000
gooobog

000000000000000000000000Osysten() 000000
00 system() 00000000000000000000 del 0000000
0000 (000 systen() 0000000)0

OO0 0Otmpl.bat D0 0@echo off0 00000000 O0system() OOOOODO
JOdddl echo off OO DOOODODOOOOO

O00000Osystem() 000000000000 (A)ODDDDODODOOODOOO
gooo
e (C)gawk 000000 ODODOOOODODODODOOODDOD

000000000000 AWK OOOOO (testc.awk) DOO0OODOOOO
(testc.bat) 00 0O 00O testc. awk:

BEGIN { for (j=1; j<=150; j++)
printf "move IMG_)d.JPEG AKB¥¥file),04d.jpg¥n", j, j + 7 }

testc.bat:

Q@echo off

gawk —-f testc.awk > tmpl.bat
call tmpl.bat

del tmpl.bat

000000000 testc.bat DO OOOOOgawk [0 testc.awk OO OO0
goobobboooubououbboobbbobbdibd tmpl.vpat U0 gdonn
goboboooobbbuoooboboboo

OOO0OAWK O systemO) DO OODODAWK OODOOOOOOODOODOODOO
O000000000000000(A), B) 0000 AWKOOOODOOoooo
O0000OOsystem() OO0O0O0OOO0OMB)ODOOO0DODOODOOOODOOOO



O O0.00000000AWKDOOO OO 3 7

O000C)00000AWKOODOOOO0OOOooooooO 20000000
000000000 00O0o0O0o0o0oooD (A),(B)ooooooooooooo

4 00000000 AWK OOOOOoOOO

Oo0O0oo0o0o0bD AWKODOOoOOoooDoooooooboooboooooooooo

Ooo000000 gawkOOODOOOOODO 3000000 -vOODOOOODOgawk
O0oooboobboobobooobuoobbuoubt gawk OODOOODDOODOO
gbbobuooobobboooobo

OO0000ooooboobooooooobobobobDoDoD gawk DOOOOODO
goboboooobobodad:

gbbb xudggbboooobbooobbobooobbooooobod
gob0DbooounD sqrex 00000 og

x000O0gawk 00 -vOOOOOODOOODOODODOOODgawk OO OOOOODO
00000 sqrex00000000000000 (A)ODODODO AWKOOOODOOoOO
goboboooooo:

BEGIN { system( sprintf("set sqrtx=%f", sqrt(x)) ) }

U000Oph0D0OD00OO00OOOsystem(O) DO UODOUOODOOODOOOODOODODODOO
gbodbdbdoboboboboboboboboboobobobl set sqrtx=...0
gboboboodbbbogiol setdggbboogoboboooobbboogon
000000000 MB)O0OO0O0O system() OO0ODOOOO0ODOOODODOO

0000000000 ((C)0000 gawkOOOODODOODODODODODOOOOOOOO
OO000D0OD0O0O0DAWKOOOODO test4d.awk O

BEGIN { printf "set sqrtx=/f", sqrt(x) }

O00DO000000 test4.bat U

Q@echo off

gawk -v x=)x% -f testd.awk > tmpl.bat
call tmpl.bat

del tmpl.bat

echo %sqrtx¥%
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odudd testd.bat ULDDUDDOOOOOOO0ODODODODOD set UUOOUOODOOO
gawk O sqrt(x) U0 UO0OD0OO0O0OO0O sqrex 00000000 O0OOOODOOODO

0000 testd.awk OO OODDODUOOOOOOO1I00O0OO0OO0OO0O0ODOOOO
goboboooobbod:

Q@echo off

gawk -v x=)x% "{printf ¥"set sqrtx=%%f¥",sqrt(x)}" > tmp.bat
call tmp.bat

del tmp.bat

echo %sqrtx%

gooboboboOoboobOobobobobOobobobooboobooo w000 %0 %%
gobobodog 1obobogogb 0¥ obuguobooboood

5 OO

gobbboooobbbooogbbbologobbbuoooobbbooon
gooos~01570 000000000 DLbO0b0bb0gbDbo0oooobobooobon

e JOOU

if00ggon

gobboooobbbuoooobbboooobboood

200000000040

e ()OODOUDODOUDDOD (DDODDODO echoOOOO)
gboobobobobobooboobDd gawkOOOOoonOOQ

goo0OOO000oO00o0o0oOoOoOoooooooooobbobbD cooooooooo
gogbobobbtbouogoogbbbbuoooooooboboobboouooooobbo
goboboobboboooooooboobobboooooooobooobboboooooonobo
gogobbobooboboougoobbbbuoooooooobooobboooobbo
gobbobooooobobooooboboboooobbbuoooobbbooon

O0000oo0o0oo0ooooobooobobobUobU gawk ODODODODOOOODO
gogobbbobobobbouooooooooooooboobbbooooooobobo
gobbooodn



